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Degradation Behavior of Metals and Alloys
after Exposure to Elements: 8" Lecture
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2. Construction for Iron
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Fic. 4. Potential-pH equilibrivm diagram for the system iron-water, at 25"C
(considering as solid substances only Fe, Fe,0, and Fe,0,).
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Fi6. 1. Potential-pH equilibrium diagram for the system nickel-water, a1 25°C.
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Fii. 3. Potential-pH equilibrium diagram for the system chromivm-water, at 24"C
In solutions not contaiming chlonde
(Figure established considering anhydrous Cr;O,.)
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FIGURE 2.10 Pourbalx diagram for iron. (From M. Pourbalx, Atlas of

Electrochemical Equilibria in Aqueous Solutions, NACE, Houston, 1974, Reprinted

by permission, National Association of Corrosion Engineers.)



